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D. Web server

Answer: B

QUESTION: 110
What are the three most important items to monitor for peak performance of an E-
Business application? (Choose thee)

A. Memory usage

B. Pages being viewed

C. CPU utilization

D. Number of concurrent users
E. Type of browser

Answer: A, C,D

QUESTION: 111
What are two major technical considerations in developing a disaster recovery plan for an
E-Commerce site? (Choose two)

A. Data sensitivity

B. System availability

C. Data storage requirements

D. Site content

E. Application development tools

Answer: B, C

QUESTION: 112
What protocol is required for E-Business applications?

A. Internetwork Packet Exchange (IPX)
B. Internet Protocol (IP)

C. NetBEUI

D. Business Protocol (BP)
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Answer: B

QUESTION: 113
Which of the following best describes fault tolerance?

A. The ability of an application to automatically correct user mistakes.

B. The ability of the system to continue operations during and after a hardware failure.
C. Having multiple servers.

D. Measurement of the ability of a data center to withstand a natural disaster.

Answer: B

QUESTION: 114
Which of these would most likely use the least amount of bandwidth?

A. A 1028x768 image of the Mona Lisa.
B. A streaming video of the evening news.
C. A home page of a large portal site.

D. A wireless Internet Web page.

Answer: D

QUESTION: 115
Certificate authorities have the responsibility for which three of the following? (Choose
three)

A. Validating a user's identity.

B. Issuing digital certificates.

C. Printing the official certificate.

D. Maintaining a certificate revocation list-
E. Storing credit card numbers.

Answer: A, B, D
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QUESTION: 116
Conducting E-Commerce over the Internet:

A. Requires a license.

B. Has well-defined boundaries.

C. Is largely unregulated.

D. Has well defined rules of conduct.

Answer: C

QUESTION: 117
What is the most appropriate application architecture for E-business applications?

A. thin client
B. transactional
C. mainframe
D. n-tier

Answer: D
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